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SF Transbay| - - - - - - - - - - - - - - - - - - - - - - - - -
4th & King 21 -5 0 0 - -2 -3 -1 1 - 0 -5
22nd Street -1 -5 -10/ -5 | 0 - | -3 -10 -6 -6 - | -3
Bayshore - -
So. San Francisco - -
San Bruno - -
Millbrae 2 -8 | -2 -8 | -2 | -1 - -2 | -5 -2 -3 -
Broadway| - - - - - - - - - - - - - - - - - -
Burlingame -
San Mateo 1 -8 | -7 -6|-3| 5 - -1 -3 4
Hayward Park -
Hillsdale 4 -3 o|l0)|-5|-/-10/ 0
Belmont -
San Carlos 3 -3 -4 | -1 - 2
Redwood City -1 -7 | -7 8| -5| -
Atherton| - - - - - - - - - -
Menlo Park 1 -7 | -1 -6 | -8
Palo Alto 0 -8 | -6 -5
California Ave -7 -8 | -6
San Antonio
Mountain View 0 -9
Sunnyvale -9
Lawrence
Santa Clara

San Jose




